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1. SR R T
B 152 e AE 50°C, RRZE T R B0 R T AE Inmol ANLANF: FURE RS IR i 75 1)
ity 5 — /NS A
RIRZSERE (PL) i1 (nmol/min/mg prot)=AA+(exd) x10°xV2+(V1xCpr)+T
=72.46x AA+Cpr
2. RHBREA I E A
Wi 102 e AE 50°C, B va ZHZRE 5 B0 o0 i SRR 2 1nmol AN = S 1 R P 75 1 g
BN ST ERAL.
RIEZLREE (PL) 3P (nmol/min/g 5 )=AA+(exd)x10°xV2+(V1+VxW)=T
=72.46x AA+W
3. YA /A0 M
Wi 102 e AE 50°C, B va ZHZRE 50 Bh o0 i SRR = 2 1nmol AN = S 1 R P 75 1 g
BN ST ERAL.
B2k (PL) 3% M (nmol/min/104 cell)=AA+(exd)x 109xV2+(V1+Vx500)=T
=0.145xAA
4, FEBARARFAT
Wi 102 e AE 50°C, RRE FHRAAREE 73 B o0 i SRR 7= A2 Inmol ANTFA > U HE I 2 Pl 75 11
il 5 — /NS A
B2 @EE (PL) 3% M (nmol/min/mL)=AA=+(exd)x10°x V2=V 1+T=72.46x A A

- ANVOAN 2 FUPEEE G R RV O 2% 4600L/mol/cm;  d---EL A MY64%E, lem;

V- AT BGRE AR, 1mL; V1--- [ NAK R EEBRARF, 0.1mL;
V2 [ BLEAAR, 1x107L; W---FEAR TR, g

T--- < MBS [E], 30min;
500---4H B B AT L = %k, 500 T35
Cpr—FEARE AR, mg/mL; ZIEFHARXF R BCA & A& &5 &




